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1. BEEREOE
(N BEIES
Ok 5+ 1,250,000 1,200,000 50,000
ZheHE 1,250,000 1,200,000 50,000
Q= Inik 0 0 0
EZIA 0 0 0
QZmE £ 630,000 625,000 5,000
ZHEH SRS 630,000 625,000 5,000
@F DI A 0 0 0
FESFIF i 0 0 0
EEINIEET 1,880,000 1,825,000 55,000
QOBEEEH
OFE% 3 1,490,000 1,155,000 335,000
HEN- 185 480,000 0 480,000
REXRBE 450,000 420,000 30,000
BIEEWE 20,000 60,000 A 40,000
EHEMLE 20,000 40,000 A 20,000
RIS A 2 20,000 40,000 A 20,000
et 100,000 100,000 0
EE 180,000 120,000 60,000
£1E 200,000 325,000 A 125,000
e 20,000 50,000 A 30,000
QEME 390,000 670,000 A 280,000
WmEM- 45 0 0 0
REXRBE 250,000 380,000 A 130,000
BIEEWE 20,000 60,000 A 40,000
EHEMLE 30,000 20,000 10,000
FNRI S A2 20,000 20,000 0
31 16,000 20,000 A 4,000
et 40,000 50,000 A 10,000
£1E 0 0 0
e 14,000 120,000 A 106,000
BEEREH 1,880,000 1,825,000 55,000
LR EERE 0 0 0
2. BENEFHOH 0
BREMNEESE 0 0 0
BRENERSE 0 0 0
L EE RN EEER 0 0 0
3. YEA—RIFRRBAEE R R
—RER EREES 1,183,440 1,501,486 A 318,046
— R FREAE AR RS 1,183,440 1,183,440 0
I 5 72 IE LR EER D &R
ZWMHFTE 1,000,000 1,200,000 A 200,000
— AR IERREF EANDIRE4E A 630,000 A 625,000 A 5,000
L BA4E TE 1IF K B 22 1 R 4E 370,000 575,000 A 205,000
EEEGRMESHERS 2,300,000 975,000 1,325,000
IEEERMERRES 2,670,000 1,550,000 1,120,000
MIERMEMNRES 3,853,440 2,733,440 1,120,000




